R BT R REIFH S (FRHIH) TR #6128 168 (A)
Frx

= g & B &t E i _ = & E fi& £ B 8

ART=®) ( (kg)

WA 52.4 ERE 52.4 1,728 1512 1,274 0] A
IZACA 20.4 E & 14.7 - 1,998 - 10 vay L
IZALA = I 2.2 - 1,836 — 0] A M
ES) 12.9 5 & 7.2 - 4,536 - 0] A 2M
[E<E0 170.3 BERE 165.1 2,376 756 648 15 A 6
[E<E0LY N 5.2 864 864 648 15 va9 8
HTE 1.3 il 1.0 2,808 2,160 1,728 4l A L
ZEDOH 3.7 BERE 1.5 2,592 2,376 2,160 4f A M
Fry 86.9 BRE 68.3 — 1,944 — 0] A 8
Fry = I 10.9 — 1,188 - 10 B
IE5NAZES 2.9 BRE 1.2 3,456 3,456 3,240 4f A M
hE 10.2 BRE 6.9 1,836 1,620 1512 3l A L
hE X & 1.8 1,836 1,296 1,296 3l vay LL
_hE 1.3 = B 1.0 4,860 — 3,888 3 M
LwA=E< 0.4 E [ 0.3 - 2,592 - 3 L
125 2.1 =l 1.0 5,400 5,400 4,320 5] A M
+)L)— 15 2 [ 1.0 4,320 — 3,888 0] A L
FRINTGHR 0.1 A¥L O 0.1 238 216 205 0.1
Hh)257— 0.3 BIR 0.3 1,123 — 1,037 5 A
JOyal)— 6.1 BIR 15 1,296 — 1,166 4 A 12
Jowal)— E 15 1.1 - 3,132 — 6l vay L
LARXR 38.1 E & 14.6 5,076 1,458 1,458 0] A 12
LAR BRE 12.4 4104 — 1,264 10 12
FoTHA 1.1 BRE 0.5 2,160 — 1,728 4f A M
=Y 26.7 BRE 22.7 2,592 2,268 2,268 5/ A M
=p5Y ElG 3.7 2,700 - 2,430 5] A M
ANESSED) 7.6 BRE 5.3 — 1,080 — 10 B 10
ANESSES) A¥LO 2.4 — 2,646 — 10] vay 5
Y 2.9 E X 2.4 - 2851 - 8
B G 0.3 1,836 - 1,728 5] A LL
k< 43 E X 2.6 346 324 194 0.5 4
k< BRE 0.5 335 324 238 0.5
I=kTh 3.1 BRE 1.8 227 194 173 02 A M
E—<> 8.5 BERE 8.2 6,804 5,184 5,184 7.8 A M
F—<> = I 0.1 3,456 2,700 2,700 2l A L
[ZA5Y 0.1 =l 0.1 - 6,048 - 6] A L
SPVAITFA 0.6 BRE 0.6 3,780 2,160 2,160 2l A
SPZAES 1.3 BRE 1.3 1,620 - 1,296 1 A
MrAL& 6.7 BRE 5.1 1,296 - 972 5 LL
[ES AT 17.9 £ % 17.1 — 2916 — 10] vay L
[ECTRYNS JtiEE 0.7 2,160 - 2,052 0] A L
=& 21.9 =l 20.0 - 96 — 1 A L
AL 45 "5 & 4.1 4,320 - 4,104 0] ¢ LL
f=Fh&E 421 JtiEE 421 3,564 - 3,456 20 A L4 (
f=Fh&E JtiEE - 1,750 - 10 L4 (
ELLV=T 1.8 BRE 0.1 — 119 — 0.1 A L
HELLV=IT =l 1.0 173 173 140 0.1 A L
ZDEET 5.8 K & 2.6 70 65 59 0.1 A
ZDEET =l 1.3 70 — 62 0.1
LHL 2.2 2 [ 2.0 130 - 119 0.2
S ER T 577.0
B=

= g fm B & E i _ = & E fi& £ B 8

ATT=®) ( (kg)

BMAHMAEE 23.7
A B M 23.3 Z A0 9.8 4,104 — 3,780 10] 19 L
B4R ol | 5,184 — 4,752 10] a9 M
B4R ol | 5,184 — 4,752 10] a9 S
A B M B X 8.6 4,104 3,240 2,700 10 L
A B M B X 5,940 4,860 4,536 10 M
A B M B X 5,832 5,400 4,860 10 S
iR 0.3 B X 0.3 - - - PR L
iR B X - 5,400 — 10 M
iR B K — 5,400 — 10 S
B 35 BERE 35 4,860 4860 3,780 5| 74va L
LEY 1.3 F 0.3 9,180 — 8,100 17
INLULT 1.8 = I 1.8 7,992 7,992 5,400 17 88
L7y 0.2 = I 0.1 6,696 6,480 6,264 15 48
SADMA 0.4 BRE 0.3 — 486 — 1 A L
Lo 25 BRE 25 5,400 4320 4,320 3l A 4L
HDMAZED 3.8 B X 1.8 - 1,080 - 5] LYY LL
YAZE 10.2
PEFE=IAN 1.4 5 & 1.4 — 5,292 — 10| 7421 36
AL 7.6 £ B 3.2 7,020 — 4,860 10l vay 32
T 0.6 "5 & 0.6 6,264 5,832 5,832 10]  MA
ZTDMYAZ 0.5 & % 0.4 — 4860 — 8| Mya 3L
FEEAL 1.0 w2 0.9 2,376 2,052 1,944 5| bya 18
WEET 8.5
=21 28 2 [ 2.8 - 1,080 — 5] A M
ZTDHMEME 5.7 B 0.3 — 2,268 — 5| 74v1 16
W5 1.3 BRE 0.7 972 — 648 025 A LL
AOVEF 2.9
7—ILA 24 B X 1.6 - 3,240 — 4l 7hva 4L
ZDADY 0.2
FULIEE
ERAYA
INTT 16.7 EVEY 16.5 5,465 3,694 3,283 15
NAFvTIL 2.4 EUEY 2.4 3,564 3,564 2,646 10 7
FOA42)LY 0.8 =ty 2 0.7 4212 - 4,050 75 4
REHET 82.7




